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Vin=7.5V  Conditions
I/0O Port output high .
Vou - No loading - 5 - A"
voltage
I/O Port output low .
VoL - No loading - 0 - A"
voltage
1I/O Port Sink
ToL - Vioad=0.1Vou 10 20 - mA
Current
I/O Port Source
Ion - Vi0ad=0.9Von -5 -10 - mA
Current
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SetPos (Byte SerID, Word
Pos)

SetPosAndRun(Byte SerID,
Word Pos)
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SetPosSpd(Byte SerID, Word
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RunAllServo()

RunlServoWithEventA(Byte
SerID)

Runl15ServoWithEventA(Byte
SerID1, ..., Byte SerID15)

RunAllServoWithEventA()
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Runl1ServoWithEventD(Byte
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Pause15Servo(Byte
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Stop1Servo (Byte SerID)

Stop15Servo (Byte
SerID1, ..., Byte SerID15)

StopAllServo ()
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GetlServoReadyStatus(Byte
SerID, Byte Status)
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Getl5ServoReadyStatus(Byte
SerID1, ..., Byte SerID15,
Byte Status)

GetAllServoReadyStatus(Byte
Status)
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Peripheral mySerQ As ServoRunnerA @ 0

Peripheral mySerl As ServoRunnerA @ 1
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Dim EventEnd 0, EventEnd1 As Byte
Dimi As Byte

Dim SerStatus0, SerStatus1 As Byte

Sub Main()
mySer0.SetPosOffset(0, 0)
mySer].SetPosOffset(0, 0)
mySer0.SetPosAndRun(0, 1500)
mySerl.SetPosAndRun(0, 1500)

Pause 1000

mySer0.SetPos(0, 2200)
mySer].SetPos(0, 2200)
mySer(.SaveFrame(0)
mySerl.SaveFrame(0)
mySer0.Run1Servo(0)
mySerl.Run1Servo(0)

Pause 500

mySer0.SetPosSpd AndRun(0, 700, 1000)
mySerl.SetPosSpd AndRun(0, 700, 1000)
Pause 2000

mySer0.SetPosTimeAndRun(0, 2200, 1000)
mySerl.SetPosTimeAndRun(0, 2200, 1000)

Pause 1000

EventEnd=0
mySer0.SetPosTime(0, 700, 1000)
mySer].SetPosTime(0, 700, 1000)
mySer(.SaveFrame(1)
mySerl.SaveFrame(1)
mySer0).RunlServoWithEventA(0)

mySerl.Run1ServoWithEventA(0)

Pause 1

Loop Until EventEnd0O=1 And EventEnd1=1
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mySer0.LoadFrame(1) ' 19V Servo0 [Fix 4" Framel ﬁlilr%‘i—'@
mySerl.LoadFrame(1) ! F19V Servol Fixk* Framel Elfli?s}"gﬁg’l
mySer0.Run1Servo(0)

mySerl.RunlServo(0)

Pause 1000

mySer0.LoadFrame(0) ! F19V Servol i " Frame0 Elfli?s}"gﬁg’l
mySerl.LoadFrame(0) ' F19V Servol [#Fixk* Frame0 ﬁlilr%‘i—'@
mySer0.Run1Servo(0)

mySerl.Run1Servo(0)
Pause 1000

Next

mySer0.SetPosAndRun(0, 1500)
mySerl.SetPosAndRun(0, 1500)
! RIS ik 775V Status ]fll‘lflﬂ =N
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Do
mySer0.Get1ServoReadyStatus(0, SerStatus0) ¢ FIZV Servo0 PR 4T SerStatusO f[1
mySerl.GetlServoReadyStatus(0, SerStatus1) ¢ FIZV Servol YR AT SerStatus] f[1

Loop Until SerStatus0>0 And SerStatus 1>0

End Sub

Event mySer(.ServoPosReadyEventA()
mySer0.SetPosAndRun(0, 2200)
Pause 1000
EventEndO=1

End Event

Event mySerl.ServoPosReadyEventA()
mySerl.SetPosAndRun(0, 2200)
Pause 1000
EventEndl=1

End Event
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